



namn: \_\_\_\_\_

Datum: \_\_\_\_\_ Poäng: \_\_\_\_\_

$$\left(-\frac{1}{5}\right)^{(-1)} - \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{1}{6}\right)^{(-1)} - \frac{3}{5} =$$

$$\left(\frac{1}{6}\right)^{(-2)} + \frac{3}{4} =$$

$$\left(\frac{1}{5}\right)^{(-1)} + \left(-\frac{3}{5}\right) =$$

$$\left(\frac{1}{2}\right)^2 + \frac{1}{2} =$$

$$\left(-\frac{3}{5}\right)^{(-1)} + \left(-\frac{1}{4}\right) =$$

$$\left(-\frac{1}{2}\right) + \frac{1}{6} =$$

$$\left(\frac{1}{2}\right)^2 - \frac{3}{4} =$$

$$\left(-\frac{1}{5}\right)^{(-2)} - \frac{2}{5} =$$

$$\left(\frac{3}{4}\right)^{(-2)} + \left(-\frac{1}{5}\right) =$$

$$\left(\frac{1}{2}\right)^{(-2)} + \frac{1}{3} =$$

$$\left(\frac{1}{3}\right)^{(-1)} + \frac{1}{6} =$$

$$\left(\frac{2}{5}\right)^{(-2)} + \frac{1}{5} =$$

$$\left(-\frac{2}{5}\right)^{(-2)} + \left(-\frac{2}{5}\right) =$$

$$\left(-\frac{1}{2}\right)^{(-2)} - \frac{1}{3} =$$

$$\left(-\frac{1}{4}\right) + \left(-\frac{1}{2}\right) =$$

$$\left(\frac{1}{4}\right)^2 + \frac{1}{5} =$$

$$\left(\frac{1}{4}\right)^{(-1)} - \left(-\frac{3}{5}\right) =$$

$$\left(-\frac{3}{5}\right)^2 + \left(-\frac{3}{5}\right) =$$

$$\left(-\frac{1}{6}\right)^{(-1)} - \frac{2}{5} =$$



namn: \_\_\_\_\_

Datum: \_\_\_\_\_ Poäng: \_\_\_\_\_

$$\left(-\frac{1}{5}\right)^{(-1)} - \left(-\frac{1}{2}\right) = \left(-\frac{9}{2}\right) = \left(-4\frac{1}{2}\right)$$

$$\left(-\frac{1}{6}\right)^{(-1)} - \frac{3}{5} = \left(-\frac{33}{5}\right) = \left(-6\frac{3}{5}\right)$$

$$\left(\frac{1}{6}\right)^{(-2)} + \frac{3}{4} = \frac{147}{4} = 36\frac{3}{4}$$

$$\left(\frac{1}{5}\right)^{(-1)} + \left(-\frac{3}{5}\right) = \frac{22}{5} = 4\frac{2}{5}$$

$$\left(\frac{1}{2}\right)^2 + \frac{1}{2} = \frac{3}{4}$$

$$\left(-\frac{3}{5}\right)^{(-1)} + \left(-\frac{1}{4}\right) = \left(-\frac{23}{12}\right) = \left(-1\frac{11}{12}\right)$$

$$\left(-\frac{1}{2}\right) + \frac{1}{6} = \left(-\frac{1}{3}\right)$$

$$\left(\frac{1}{2}\right)^2 - \frac{3}{4} = \left(-\frac{1}{2}\right)$$

$$\left(-\frac{1}{5}\right)^{(-2)} - \frac{2}{5} = \frac{123}{5} = 24\frac{3}{5}$$

$$\left(\frac{3}{4}\right)^{(-2)} + \left(-\frac{1}{5}\right) = \frac{71}{45} = 1\frac{26}{45}$$

$$\left(\frac{1}{2}\right)^{(-2)} + \frac{1}{3} = \frac{13}{3} = 4\frac{1}{3}$$

$$\left(\frac{1}{3}\right)^{(-1)} + \frac{1}{6} = \frac{19}{6} = 3\frac{1}{6}$$

$$\left(\frac{2}{5}\right)^{(-2)} + \frac{1}{5} = \frac{129}{20} = 6\frac{9}{20}$$

$$\left(-\frac{2}{5}\right)^{(-2)} + \left(-\frac{2}{5}\right) = \frac{117}{20} = 5\frac{17}{20}$$

$$\left(-\frac{1}{2}\right)^{(-2)} - \frac{1}{3} = \frac{11}{3} = 3\frac{2}{3}$$

$$\left(-\frac{1}{4}\right) + \left(-\frac{1}{2}\right) = \left(-\frac{3}{4}\right)$$

$$\left(\frac{1}{4}\right)^2 + \frac{1}{5} = \frac{21}{80}$$

$$\left(\frac{1}{4}\right)^{(-1)} - \left(-\frac{3}{5}\right) = \frac{23}{5} = 4\frac{3}{5}$$

$$\left(-\frac{3}{5}\right)^2 + \left(-\frac{3}{5}\right) = \left(-\frac{6}{25}\right)$$

$$\left(-\frac{1}{6}\right)^{(-1)} - \frac{2}{5} = \left(-\frac{32}{5}\right) = \left(-6\frac{2}{5}\right)$$